























45.

46.

47.

48,

Set of even prime numbers is

50 R Sopgw 08

1 84 A

@) 18,10} (4)

IfAn B= B, then the correct statement is

A B= B oo 6 08 T8 B0

() AcB M2

B A=¢ (4)

Which of the following sets are finite?

5 20 6" DO S0t B

(1) Set of all natural numbers AQ]/
e Sopgen e Yo 90D

(3) Set of months in a year (4)

2.5 SoSth5S Boo $Wd

‘P——"

{4, 6, 8}
{2}

Bc A

B=0

Set of all prime numbers
o) PFR SoPge Hd
None of these

H8 =&

The number of zeroes, a biquadratic polynomial can have at most is

03, 505" eRT0RBS SoklID g SoRy

1 1 @ 2
(3) 3 @ =«
49. The product of the zeroes of x + 2x%+1is
x+2x2+1 Ghoos), @50 ©20
n -1 2 2
@ 1 i
50. The zeroes of the polynomial %3 - x? are
x3 — X% 2B GhoY) TR
1 601 @ 01,1
A, ) 4 0,00
SPACE FOR ROUGH WORK /255508 25800
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5. Pick the correct answer from the following two statements :

Eob Botd T m;a@ammmmamg‘oa:
(a) Alens has at least one curved surface.

o Koo Eiso 0.8 HEe D) SON Gotood

(b) A plano-concave lens has two curved surfaces.
L& 55580 9ered K058 Dot HEBC e GOLrax

(1) Only (a)is true (2) Only (b)is true
(a) S deso (b) 3o deso
(3_Both (a) and (b) are true @ Both (a) and (b) are false
(a) 50Bco (b) Dot Derd (a) 50050 (b) Botsr 838

56. The material suitable for making heating element of electric iron is

2 26" €753 S8t &SRS Sargo

(1)~ copper (2) nichrome
) 3

(3) silver (4) germanium
So& E52aHo

57. Match the following :

2B Tredd eeftiionoo
Physical quantity SI Unit
TO5 o8 Sl Ereso
(ijj Electric current (a) Coulomb
Dsogd @aradro Erarroe
fii) Electric charge (b) Volt
Dsogd esidio S'é
(iii) Electric potential () Ampere
Desiogd S ssoahd
(1) - (e) fii)- (a), (iii)- (b) J{ ()= (c), ()= (b), (@i)- (a)
@ (i)~ (@), fi)- (o) (i)~ (b) - @ )- ), i) (a), (i)- (o)
SPACE FOR ROUGH WORK !O@Iﬁﬂ;ﬁﬁn
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62. A current of 1'5 A passes through a conductor of resistance 20Q. The potential difference

across it is
200 2650 SDAS ¥ e Kaoo (iromh Do 1°5 A woxd agané da
Q) 1333V 2) 30V
By S5V (4 20V
63. The materials which are useful in making of diodes, transistors and integrated chips (ICs)
etc. are
adirSes, Erinydes, 500708 05, Sarth Saneos’ a3 Sorgw
(1} conductors [2.:) insulators
s (hle s sy b]
(3) semiconductors (4) alloys
SITrITw ool Sfen

64. The defect of vision in which the people cannot see the objects beyond far point is called
Soud sisod 1105 Dotio we No SipPos Sreds e Sowodods e

(1) presbyopia 9.}’ " hypermetropia
Seryo g

{3) myopia (4) the angle of vision
sty C%!g&e 00

65. For a healthy eye, the accommodation of eye lens will be in the range of
BTSN Soed Gk Boed K6o¥ Seieres Denen oo
(1) 2t025cm
2) 25to25cm
{3) 1to2cm
25 to 227 cm

66. A person cannot see the objects placed between near point and the point of least distance of
distinct vision. His defect of vision can be corrected by using

e Sk 505 50 Dotiudp SoBcli: Myt K5 5o Sofl dioli Sighetis RO WraBrE, o shERY
DrBoiioath T 3360 %0

(1) bi-concave lens (2) bi-convex lens
B Serss 8y Booprs'd
(3] bi-focal lens (4) concavo-convex lens

] DTSE-Logrsy
SPACE FOR ROUGH WORK /D308 38
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73. When freely suspended, the compass needle come to rest along the geographic
Sxigyr GoDISHED, BET)D Ao, 50 gD closty (08 B Sowd HOD 038 Biioyd

(1) north-east directions (2) east-west directions
ago—anay B¥ed Britioy-5e8500 B0

(3] south-east directions (4) north-south directions
G- drtiny O¥w &B0-G3n B

74, If x and y are the temperatures of the hot and cold water samples respectively and z is the
final temperature of their mixture, then

¢ B e S658m 36 550as S50 3 e afiies vow, z T DR B0 &N s0d

(1) y>x>z @) x>y>z 3y x>z>y 4) y>z>x
75. If i and rare the angle of incidence and angle of refraction, then the equation for the Snell’s
law is
5005 1 oo 8880 Hobaho SESS Sroos ST sond R Voo Ghos, SIEH
(1) Sin i+ Sin r= Constant (2) Sini- Sin r= Constant
Sin i+ Sin r = Horossw Sin i- Sin r = Yoroti
. sin 1
(3) Sinix Sin r= Constant “ 7 = Constant
sin r
Sin i x Si 2o e - logel-nit]
inr= —
REE N sinr ¢
76. A lens is made up of
S35y SOt oot e SOt
(1) a transparent material (2) an opaque material
O SOrEE | D OEGE 50MgE
(3) both transparent and opaque materials Jﬂ]/ None of these
G 0Bt SIS S BolTET 08 s

77. The distance between the focal point and the optic centre gives the
Fhas Dotixd So80k0 &5 Soyos Hxts; Mo Grto B

(1) radius of curvature focal length
Sgor T R
‘(31,- object distance (4) image height

SPACE FOR ROUGH WORK /23308 755
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83. The amount of heat required to raise the temperature of 1 gram of water by 1 °Cis called
1 grioo D3 &S 1°C DoSERS wisito wdly dxos

(1) joule (2) kelvin
&6 WS

(3) calorie (#) degree celsius
' & 2Da0S

84. Two bodies A and Bare at temperatures -100 °C and 173 K respectively. The body at higher
temperature is

A 3500tk B 6535 Bodd Syden 6 ~100 °C 38ako 173 K adifie 3¢ eon. Te36° efs &3
S &5 959

n A @ B
(3) Both are at same temperature }b None of these
Bocr o8 Ay 565 30 =P

85. Which of the following pairs of substances have the same values of specific heat?

$ob Tedé’ £8 DEJFHS Dentien EDAS 220> SCgPed

[9 Copper, aluminium (2) Ice, water
536, warsodobo oo, K

(3) Brass,iron {4) Ice, kerosene oil
358, I8 oo, 465

86. When touched, we feel that a metal piece is colder than a wooden piece. This is due to the
transfer of heat from our fingers to

So50 HBPDTHE 0.8 T, 508, Kol 8 S Sk, Serr eD30B. A SO0 505 30 3 Sod ax
G550

(1) the metal piece only (2) the wooden piece only
S S S toibEod T B S exioeood
(3) both the metal and wooden pieces (4) None of these
ot Soopts el Vetal i Colls S5y 25N

SPACE FOR ROUGH WORK /D308 3yt
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SECTION—III : CHEMISTRY

91. Which of the following properties was explained by Bohr’s atomic model?
£'6 385t Aoy S #0 736" B D580D0B?

{1) Line spectra of H atom (2) Fine spectra of H atom
DERS Syr sgsesn T S sty S0
(3) Both line and fine spectra of Hatom  (4) None of the above
€S Sy oo 8 SRS 2008 s
©92. Maximum number of electrons held by p-orbital is
p-eQerdE’ rigom IR) JogRY GoSSEY?
b ,(,H’ 2 @ 3 (3 6 (4) 10
4. The electronic configuration of an element is based on
BT G, dogS Jgo B QS errENERL?
ll}&ﬁufbau principle (2) Hund’s rule
el Daosion _ Swob Danbtn
(3) Pauli’s exclusion principle (4)” All of the above
29 g% Danseseo 25
. Which of the following quantum numbers can't have zero value?
&b TRE' D sgoeso Sopy BorTy DS DRGSO T
(1) Principal quantum number (2) Azimuthal quantum number
B Sgoeso Nows Selah (6555 3 oo Sops
(3) Magnetic quantum number [yr Both (1) and (2)
SABHEN SOt Sovy (1) 08050 (2)

" 95, In which of the following, elements are arranged in ascending order of their atomic numbers?

208 D5° AD8" SETED Sopge BFT s’ Saresor sSuto sOhod?

(1) Dobereiners law of triads (2) Newland’s law of octave
oS B8 Moo Srgorod es oS

p}/ Modern periodic table (4) Mendeleev's periodic table
e5GioDE eaSE S8 BoocsdS e58s D8

96. Which of the following quantum numbers increases down the group in the modern periodic

table?

208 8" D syoesSs Sopy, GRS eSS S35 ooty (556" GBS B 5@ BEorEes?

w/-' Principal quantum number (2) Azimuthal quantum number
B Sgoeso Hows Sela s sgotalo Sowg

(3) Magnetic quantum number (4) Spin quantum number
o Syonss Sop; S Sigotsd Sow

SPACE FOR ROUGH WORK /#3038 o
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R ofan clement to form the longest chain with its own atoms is called as

&5 oo od @y, ST D50 woiol® FEokar e Mysires DS dogroso 5D

DED?

(1) allotropy [g,v hybridization
Srarosioen Rozbrtino

[3) catenation (4) isomerism
Hopo 5}";’1)%0 e %o

111. Hydrocarbons that contain only single bonds between the carbon atoms are called

DESEE" sthy50 1055 Dierotio S5 doid el Diisoerts?

!}-J alkanes (2) alkenes

S by,

(5) alkynes (4) Al of these
2% 2

112. For hydrocarbons, if the molecular formula increases, then melting point
TETES Aol sedtne DAHES T8 EHESS o Diodesod ?

(1) increases (2)~ decreases
feloshyel: LA Brxi0d
(3) Either increases or decreases (4) No relation
DorbEod Tor diiuod D Howoio Soitd
113. In hydrocarbons, which type of bonds does carbon form?
. TESHS SAniTed’, S Jbuor) pogres SDRcHotuod?
] (1) Four single bonds (2) Two double bonds
' Treolh D¥eoGred Bots Bgpogren
}3} One single bond and one triple bond (4) All of these
£.5 DEp0siEas SoBahy e¥ [Beodiin 259

~CONH,, ($3o0% 507750 5D TETGTO O worrt>?

(1) carboxylic acids (2) amides
Song D8 essire w
(3" amines (4) esters
o5 6

SPACE FOR ROUGH WORK / :Jeg:s;)é@;m
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115. What happens when litmus paper test is performed with an acid?
o e Deyg® o’ 558005 dod T DB etIbEd?

. turn 11
9’ Red litmus turns to blue (2) Red litmus oy
Dy Desiaorm S s Deyh ST Srdoo
(3) Blue litmus turns to red (4) Blue litmus turns {0 yony
B Dy o st DD ey S 708

116. Which of the following properties is used in the olfactory indicator?
2od 206" D efred) L6 b w08’ esdrinto?

(1} Colour change (2) Odour
Bolh 3ty TR

(3) Taste (4) None of these
& 2

117. When Na_CO, reacts with an acid, which of the following gases is evolved?
Na,C0, ssiiind’ 155 2BbSHn, $od 06 D abnd Jesscosed?

1) H, @ N, » L o “4) Co,
118. An antacid is
dotrhE esd
(1) asalt (2) an acid
o560 s
(3) abase (41" an acid or base
i oo o gein

119. The nature of non-metal oxide is
o8 &35 D roasio SHRa0a0d?

(1) acidic (21 basic
o g6

(3) neutral (4) acidic or basic
-5 e 3o o

120. Principal quantum number [n) is represented with
@Er S o0 Moy (n) BOE' DY
() 0,1,2,%8 a8 8 KLM,... )‘fa] v, ' A

2021-81/81-p |24
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